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MASTER OF ARTS (ECONOMICS)
Term-End Examination

June, 2022

MEC-101 : MICROECONOMIC ANALYSIS

Time : 3 hours Maximum Marks : 100

Note: Answer questions from each section as per
instructions given. Section A : Attempt any two
questions. Section B : Attempt any five questions.

SECTION A

1. (a) Nidhi Dutta, a sportswoman, enjoys
playing golf (X;) and tennis (Xy) each week,
and derives enjoyment according to the
utility function :

U= /X, .X,
If Nidhi has T 24 a week to spend on these
two sports activities, and the price of a
round of golf equals that of a game of
tennis, ¥ 4, how will she pursue her
athletic activities in order to maximise

utility ?
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(b) If the income consumption curve is a
straight line passing through the origin,
prove that the income elasticity of demand
for each commodity is equal to unity.

(¢c) What is an income compensated demand
curve ? How does it differ from the ordinary
demand curve ? 10+5+5=20

2. (a) Explain the two fundamental welfare

theorems.

(b)  Explain whether the individual ordering of
social states can be made according to
Arrow’s impossibility theorem. 10+10=20

3. (a) Every Nash equilibrium in pure strategy is
a Dominant strategy equilibrium, but the

reverse is not true. Explain.

(b)  Suppose you have a friend who is exactly
like you in terms of risk preference : his
vNM utility function is also u(w) = Jw,
and his initial wealth is also ¥ 100. You
propose to split the gamble evenly with
him, i.e., if you win, each of you would win
T 78, and if you lose, each of you would
have a loss of ¥ 50. Discuss the benefit of
risk pooling of the problem.

(c)  Explain the concept of First Best Contracts,
using appropriate diagram. 5+10+5=20
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4. (a) Suppose the firm uses two inputs, Labour
(L) and Capital (K). The firm produces and
sells a given output. You have the following

information :
(i) Is the firm operating efficiently ? Why
or why not ?

(i1) What should the firm do ?

(b)  For the following production function :

Q=10K.L
What 1is the elasticity of technical
substitution between K and L, when K = 5,
L=5?

(c)  What does the long-run marginal cost curve
of a firm look like if its long-run average

cost curve is L-shaped ? 7+7+6=20

MEC-101 3 P.T.O.



SECTION B

5. (a) What is a reaction function ? In an
oligopoly market with two firms, industry
demand is given as Q = 100 — 2P and
Marginal Cost (MC) = 5, where Q = q; + q,,.
Find the reaction function of the firms.

(b) If each firm in an industry is operating,
where P = LMC, does it follow that the
industry is in a long-run equilibrium ?
Explain. 6+6=12

6. (a) Suppose a monopoly firm faces a demand

curve :

_ 256

=52

The firm’s marginal cost curve has the form
MC = 0-001 X.

X

(i) Find the firm’s profit maximising

output level.

(ii)) What is the equilibrium value of
Marginal Revenue (MR) ?

(b) What do you wunderstand by excess
capacity ? In a monopolistic competitive
market, could there be a situation where
firms are actually producing more than the
ideal output ? Explain. 3+3+6=12
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7. (a)

(b)

8. (a)

(b)

9. (a)

(b)
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(i) How is the kinked demand curve
under oligopoly different from the
demand curve for a monopolistically
competitive firm ?

(i1) Suppose a kinked demand curve has
a kink, when P = P*. Explain which
of the following is true — P > P* or
P<P*?

Explain the vNM expected utility
theory. 8+4=12

What do you mean by market failure ?
What are its causes ?

What are the two principles of justice as
mentioned by the philosopher Rawls ? 6+6=12

Explain the different measures of Risk
Aversion.

Two players have the opportunity to
participate in a gamble with two possible
outcomes as :

Outcome Probability
T 10 0-3
T 30 0-7

The player’s utility functions for the money
outcomes are as follows :

Player 1: U;(M) = {M + 6

Player 2 : Uy(M) = (M + 5)°

Determine the difference in the amounts
that you must offer to these two players. 6+6=12
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4+8=12

5+7=12

10. (a) Define Nash equilibrium with a common
example.
(b)  Consider the following game :
a b ¢ d
\4 2,0 0,5 1,0 0,4
X 4, 1 2, ]- 0) 2 17 0
y 2,1 5,0 0,0 0,3
zZ 0,0 1,0 4,1 0,0
Compute the set of Nash equilibria.
11. (a) Briefly discuss the concept of Bayesian
Nash equilibrium.
(b)  Discuss the Spence model of job market
signalling.
12. Write short notes on any three of the
following :

(a)
(b)
(c)
(d)
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Slutsky’s theorem

Economies of scale

Linear Expenditure System

Theory of Second Best

4+4+4=12
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4+8=12

5+7=12

4+4+4=12
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